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2) a) 39.9972 g

mol       f) 122.1250 g
mol  

 b) 275.749 g
mol        g) 180.1592 g

mol  

 c) 153.990 g
mol        h) 368.362 g

mol  

 d) 96.0866 g
mol        i) 244.28 g

mol  

 e) 146.347 g
mol  

  

3) a) 
1

22.5 0.344
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  The problem asks about ATOMS.  N2 is a molecule so you have to convert to N atoms. 
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9) a) 1 molecule C2H5OH = 2 atoms C + 6 atoms H + 1 atom O = 9 total atoms 
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d) 1 molecule CHCl3 = 1 atoms C + 1 atoms H + 3 atom Cl = 5 total atoms 
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10) a) 1 molecule N2O5 = 2 atoms N + 5 atoms O = 7 total atoms 
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c) 1 molecule BF3 = 1 atoms B + 3 atoms F = 4 total atoms 
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  You can’t have a fraction of an atom, so the decimal point implies that you have EXACTLY 10 
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 d) 1.204x1024 + 0.6022x1024 + 0.6022x1024 = 1.807x1024 total atoms 
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